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Ideals for irreducible component#ﬂ)f Xpar

I = (w4 u® 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 49 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIY=(@u®4+u®®+... —u—1)

(i) Arc colorings

1
a2 = \ 0
1
a1l = U2
—u
as = \ —ud +u
—u? 41
a0 = \ —ut + 202
ud —2u
a3 = \u® —3ud +u
ut —3u?+1
ag = —ut 4 202
ud —5ub + Tut —2u2 4+ 1
ap = —u8 + 4ub — 40t
u'® — 9u'* + 31u'? — 5060 + 39u® — 22u8 + 18u* — 4u? + 1
az = \¢!® — 1000 + 390 — 74u!? + 71019 — 40u® + 26u8 — 12u* + u?
u'? — 7ul® + 17u® — 16u® + 6u* — bu? + 1
ag = —ul2 4 600 — 1208 + 8ub — u* + 22
—u?® +14u + -+ 100 —u
ae = u?® —13uB + - -2 +u
wd® — 2130 + - —4u2 + 1
a7 = \ —u38 +20u36 + .- + 6ut + u?
(ii) Obstruction class = —1

111 usp apes = 4u" "' — e u +
iii) C Sh 4ut" — 104ut® 20 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C5,Cr w130+ Bu+1
2, Cg u49_u48+_.'+u_1
€3, C4, C10 I I |
11
C8 9, C12 ut + 7ut® 4 4161w+ 23




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5,C7 y49+47y48+--~—31y—1
2, C6 y* =13y 5y — 1
€3, C4, C10 v — 53y 4 By —1
11
Cs, Cg, C12 Y0 +43y* + ... + 345y — 529




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v/=1C)

Cusp shape

u = 0.560911 4 0.6170511

0.03209 + 9.927231

2.33908 — 8.452901

u= 0.560911 — 0.6170511

0.03209 — 9.927231

2.33908 + 8.452901

u = —0.559395 + 0.6050361

0.64373 — 3.840551

3.42430 + 3.637591

u = —0.559395 — 0.6050361

0.64373 + 3.840551

3.42430 — 3.637591

u = 0.520007 + 0.6258591

—6.71020 + 5.186831

—3.12443 — 7.101981

u = 0.520007 — 0.6258591

—6.71020 — 5.186831

3.12443 + 7.101987

u= 0476220 + 0.6324651

—6.83957 — 0.923561

3.72094 4 0.591941

u= 0476220 — 0.6324651

—6.83957 + 0.923561

—3.72094 — 0.591941

u = —0.495924 + 0.6016861

—3.64428 — 2.050711

2.75570 + 3.415921

u = —0.495924 — 0.6016861

—3.64428 + 2.050711

2.75570 — 3.415921

u= 0.427267 4 0.6388851

—0.36215 — 5.673141

1.21064 + 2.366551

u= 0.427267 — 0.638885]

—0.36215 + 5.673141

1.21064 — 2.366551

u = —0.704479 4 0.2848411

6.18625 — 5.623971

8.20284 + 7.441631

u = —0.704479 — 0.2848411

6.18625 + 5.623971

8.20284 — 7.441631

u= 0.713643 + 0.2541691

6.35954 — 0.464521

8.91385 — 1.903771

u= 0.713643 — 0.2541691

6.35954 4 0.464521

8.91385 + 1.903771

u = —0.422467 + 0.6230361

0.241870 — 0.3315221

2.23641 4 2.720981

u = —0.422467 — 0.6230361

0.241870 + 0.3315221

2.23641 — 2.720981

u = —0.532270 4 0.3101641

—0.30816 — 2.905161

2.46540 + 10.235091

u = —0.532270 — 0.3101641

—0.30816 + 2.905161

2.46540 — 10.235091

u = 0.520805 4+ 0.0989501

0.915760 + 0.1807191

10.81102 — 1.073251

u = 0.520805 — 0.0989501

0.915760 — 0.1807191

10.81102 + 1.073251

u= 147464 4.15570 0
u = —1.46681 + 0.174751 5.75336 + 2.794991 0
u = —1.46681 — 0.174751 5.75336 — 2.794991 0
u= 147025+ 0.159641 6.35276 + 3.076271 0
uw= 147025 —0.159641 6.35276 — 3.076271 0

u = —0.018932 4 0.4940111

4.06337 + 2.976821

1.62274 — 2.676951

u = —0.018932 — 0.49401171

4.06337 — 2.976821

1.62274 + 2.676951

u = —1.50000 + 0.186351

—0.38185 — 2.000711

0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.50000 — 0.186351 —0.38185 + 2.000711 0
u= 1.52570+ 0.070021 6.56231 4 4.188451 0
uw= 1.52570 — 0.070021 6.56231 — 4.188451 0
uw = 1.51740 + 0.175551 2.98662 4 4.825171 0
uw= 1.51740 — 0.175551 2.98662 — 4.825171 0
u = —1.53569 + 0.026481 7.87105 — 0.636461 0
u = —1.53569 — 0.026481 7.87105 4 0.636461 0
u = —1.52436 + 0.190811 0.02148 — 8.134121 0
u = —1.52436 — 0.190811 0.02148 4 8.134121 0
u = 1.54446 + 0.185171 7.61861 4 6.714681 0
u = 1.54446 — 0.185171 7.61861 — 6.714681 0
u = —1.54457 + 0.190391 7.0056 — 12.86761 0
u = —1.54457 — 0.190391 7.0056 + 12.86761 0
uw= 1.57843 + 0.067181 13.8962 + 6.84651 0
u= 1.57843 —0.067181 13.8962 — 6.84651 0
u = —1.57914 + 0.059311 14.09970 — 0.619601 0
u = —1.57914 — 0.059311 14.09970 4 0.619601 0

u = —0.208356 + 0.3459871 —1.242340 4 0.5369771 | —4.83102 — 0.573631
u = —0.208356 — 0.3459871 —1.242340 — 0.5369771 | —4.83102 4 0.573631




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C5,C7 u® +13u®® - Bu 1
C2, Ce u — 4 u—1
€3,C4,C10 uP ey —1
‘1
cg, Cg, C12 u®® + Tu®® + -+ 161u + 23




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1,C5,C7 y* + 4Ty - =31y —1
€2, Co y* —13y* - 5y — 1
€3,C4,C10 y49_53y48+”._~_5y_1
C11
c8, Co, C12 y* + 43y* + - 4 345y — 529




